10th Social science
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LSSTD euGLiL] - X STD
Feys gnlaflwsd - Social Science
(Spriudfleoid Hmub I euf) / English and Tamil version)

STV NN : 15 Fbl_id + 3 Loewf) Lo 1Ges e 1100
Time Allowed : 15 mins + 3 hrs Marks :100

APYDTEET : 1. SAdg endsend sfuns st uband oTTST  GTELIDS
silunidgs  Qsnerenayn. wdsl  Lhelldd  G@puiipinddr  AHeDS
SV HISIIILITENHIL LD 2 L g sd; Oshlelshsan
2. Beuib Siebeugy smLiL) eiouienast Lot (Gl e1LpBIaIBDELD g HCsMe(haubDESLD
LiwiahTLI(h g Gaueist(hLp. L kiseir euenmeugh@L GIistiFleb LnesTLI(h S e Lb.
Instructions : 1. Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams.
Note : This question paper contains four parts
GUICiL : @eiellenndger pies@ LiGHsmand CseiL g

u@al 1 / PART I
(glliEuestssr - 14) [ (Marks : 14)
@Dy : () Siwandg) 14 afleTdaend@Ln eflenL werldseLb. 14x 1=14
(ii) Qsn(pasiii’ Gerenr  prshi@ wnhry oL saisy Wsad GUTrdswnear  lledLewd
Caiposbig @GO (b aflevullevesiujtd B&Fi1dg) 6T(LpSa|LD.
Note : (i) Answer all the 14 questions
(ii) Choose the most suitable answer from the given four alternative and write the option code
with the corresponding answer.
1. (i) s e ewsi Gurflar Gurg gpevglfluremer CeH@uswert Gurflsd Ggr b
pevariiLLsr FRUL wauliuGs )55 redlulilsr (WP&HEWE SHL_DWTS @) HHSHSI.
(i) @)ssreflewws sriyaib Fam ST 585 Clgiwell UTAFSmendh o505 TeTg).
(iii) 2y Quoissraid BsOGLKL LkGFFHmS of pdd 19299410 gye01(®H Hy&BL LT LoTFHLD

24 9410 Breflsd sTHLIL LS. i
(V) guiifss  Godlw  sridrdlar  Lprers 5L 1966@)0  allevsahls

Q& rereriLL L Sl

(o) (i) opmutd (ii) (<) (ili) Lo @o & ”

(@) (iii) whmuio (iv) & (#e) (i), (i1) Do (i) &if

(i) During World War I the primary task of Italy was to keep the Austrians occupied on the
Southern Front.

(ii) Germany took to Fascism much later than Italy.

(iii) The first huge market crash in the US occurred on 24 October 1929.

(iv) The ban on African National Congress was lifted in 1966.
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(a) (1) and ii) are correct (b) (iii) is correct
(¢) (1ii) and (iv) are correct (d) (i), (ii) and (iii) are correct

ubGureur @ rravais spssSlsr 1S @) wid@eri wri?

() estrwmre Qe (=) aflwirmGs-Gags
(8) »wECss QurGrmiysir (7) @-GlweT-s0mil
Who was the first director of Whampoa Military Academy?

(a) Sun-Yat-Sen (b) Chiang Kai-Shek
(c) Michael Borodin (d) Chou En Lai

. CarHdbsiiul Rerar s Hm whnib srrarssnarer flwrer alsnl spuw He»L_wWTeTLD

&HIT VIS,

& pmi @ Uiy gra 1857 9410 gy evrigsir Slemiddlenw @) @loLdsrid Clamest(h

TR ATTET

STrewTh: s»wwiuBSH0UL L Blieursd @seorssme Hlaridd] Corsvall sevrL_g).

(o) s dmy wHmID sTrewid @) reBHG Heum).

(91) #nDmy Seumy srrewrid &ifl.

(@) shm wHmd sryewin GrevwBGW &Fifl. HYSHIL T STTEWID FmHMISSTRT &FTlwTeT
el d Lo G LD,

() spmy wHpid srrewid @reawHGw Fifl. YT HTTEID FnHNISSTHT  &FilwiTer
allendain G)suems.

For the given assertion and reason, identify the correct answer.

Assersion (A): The Revolt of 1857 was brutally suppressed by the British army.

Reason (R): The failure of the rebellion was due to the absence of Central authority.

(a) Both (A) and (R) are wrong

(b) (A) is wrong and (R) is correct

(¢) Both (A) and (R) are correct and R isthe correct explanation of A

(d) Both (A) and (R) are correct, but R is not the correct explanation of A

(PHVTOUS] SUGTF FLL LD 6T[hG 2pewTlq 60 GuipmiiLi’ L g7

(=) 1858 (<) 1911 ‘ (@) 1865 (/) 1936
When was the first Forest Act enacted?
(a) 1858 (b) 1911 (c) 1865 (d) 1936

181290 gyevwr(® Glausflull_Liu L Qg _sssre sl @evdsslw mred erg)?

(=) SlmdsE@mer (=) @grsvariniun (@) of rGemfluib (/) @emmoent)
One of the earliest Tamil literary texts to be published in 1812 was

(a) Tirukkural (b) Tolkappiyam  (c) Viracholiyam (d) Chulamani
. uYGaumsET®H 6rif] W Bleviis emdSlenLGus o)eniofigieireT .
(2) Cuop@eumisrard wHMID Puy&r (@) sipresr whnio Csrerr
(@) pyor whmid bSTOTrGseb (%) SBPHTE wHmib oybSrinrGsa
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10.

11.

Pulicat Lake is located between the states of
(a) West Bengal and Odisha (b) Karnataka and Kerala
(¢) Odisha and Andhra Pradesh (d) Tamil Nadu and Andhra Pradesh

Llasr®Es i Herer sapmi whmid srrevsSnsrer Fflwrer el ew e wrer
T EI0T 5.

SBpyl . GuuwsawraTs G STaBme SrenTTed ClFwUBF DS

STTNTLD. (@) 1owioensy wiBw fwraledmibs ofsn . GafissrhHop shH3 @hgws
SO ESMTL_SenS LSCeuILWTS swausH mEbEng.

(<) S DI HMID &Tresrid B rer®id Fifl, g Haydsrer srrewrib Fil.

(24) Doy WHDID STTEID @) redrGid i, Fn DM HSTET &HTTENTID HUD).

(@) npmy &N sryewrid Faum).

() sn Hmy Beumy &mrewro &,

For the given assertion and reason, identify the correct answer.

Assertion (A): The Himalayas acts as a climatic barrier.

Reason (R): The Himalayas prevents cold winds from central Asia and keep the Indian Sub
continent warm.

(a) Both (A) and (R) are true: R explains A

(b) Both (A) and (R) are true: R does not explain A
(c) (A) is correct (R) is false

(d) (A) 1s false (R) is true

QUITHBSTSMBS BT HoISHEHLD.

(=) Qausirem1GlLI(H& @ STEVEUTUISHST () UDDITS &Te06TIISET

(@) srflssir (%) sreLeuTISET

Pick the odd one out

(a) Inundational canals (b) Perennial canals (c) Tanks (d) Canals

@)hslwTails) (pSs) FeTed N6V Blmsutiu L @i

(o) OsTeLSHSST (=4) 1piosmL (@) 9mwasTUTS () UBrrim

The first Jute Mill in India was established at

(a) Kolkata (b) Mumbai (c) Ahmedabad (d) Baroda

SUOPHTL1g60 s Fls wemolLmILD LGS ¢
() sen&ETH (o) pCsarsaE (@) Aarawsseri () Seirerluyi

The wettest place in Tamil Nadu

(a) Kalakadu (b) Hogenakkal ~ (c) Chinnkallar (d) Kiliyur .

DY EHLOFF TSN (L) PU_HEWTEHSLTS TEHHGL CUrmILiyeL WeuTseiT ) 6ui?

(=) Gy wrss pevevoui (24) whmerensu

(@) Jrsw Seowssi () WrEleVkiSHeTen sy
The Council of Ministers is collectively responsible to the
(a) The President (b) Lok Sabha (c) The Prime Minister (d) Rajya Sabha
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12.

13.

14.

10th Social science

LIEheLeVd Clamsirend 6% 06w 1SS T6 5

(<21) Cm(m oHmD @5-Cluiehr-eUmii (1) @m(m HmILD Hira

(@) Gy whHiih g5t Gevrir () Cp@w wpmid Hloemom

The Panchsheel treaty has been signed between

(a) Nehru and Chou-En-Lai (b) Nehru and Nasser \
(¢) Nehru and Sukarno (d) Nehru and Nkumarah

2 % auihss gewwliler (WTO) sensvaui wimi?

(<9)) gyewwdFTenau (1) BwevemLn @)W BT

(@) s1smemt Bewsvenio (3)uids @b (%) @eupilev stgi0 LMV

Who is the head of the World Trade Organisation (WTO)?

(a) Ministry (b) Director General (c) Deputy Director General  (d) None of these
WwrmiL L speTmleneirds mevar(HLillg..

(@) aumLomssr surf) (1) CFrdg euifl

(3)) Plmysussr auifl () LiGwTL_Budssim LHMILD LenflEer HTer el
Find the odd one

(a) Income tax (b) Wealth tax (¢) Corporate tax  (d) Goods and Services tax

L@ 11 / PART 11
(walOG@ussrssir : 20) / (Marks : 20)

@mILIL : () erevauGuigyiLd 10 il Td:E@hdi@ Lo (hLb eflent weMdsayLo. 10 x 2=20

Note :

15.

16.

17.

18.

19.

20.

21.

(ii) 28eugy elewmalin &L L muons eflent werflds Geuessr(bLb.

(i) Answer any 10 questions .

(i1) Question No. 28 is compulsory.

Yo 2 sl CGurmrsel Ubmsw srtegemnss BFihs cyedrm wosdlw sFieurdlsrilssr
wireui?

Who were the three prominent dictators of the post World War 1 ?

'‘Quireflesr Geui’ — ALy auenrs.

Write a note on ‘Berlin wall’.

(LPALEDLOWITENT FUWITTEReSIUILD 6TEHTMT6D 6T63T60T 7

What is Poorna Swaraj?

Ogsraflbglw meve fleniwd shsgsre CeusflullCiul L QFiiFssrersaflsr GLwisemeards
S INICES

Name the newspapers published by the South Indian Liberal Foundation.

‘el sTHEMIL_ L BS6T TRTHTEL 6T6dT6wr?

What are ‘Jet streams’?

‘WemRT - QUEn T

Define ‘Soil’.

Blevdsflullsst susnssener oyzer siflo gjeraysenL et @mlil@Hes.

Name the different types of coal with their carbon content.
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23.

24.

25.

26.

27.

28.

29.

30.

BLN&EeHTF FLobleuef] sTeusumrml o (Heuralmas)?

How is coastal plain formed?

@bgwd @y wrss sesvaui steuairm GpihelsHHSILIGHEDITI?
How is President of India elected?

SULewemuymibsih BEOIBUTTensT — Ani@mIiL a1y

Write a note on the writ of Mandamus.

Ceuaflymey Garsirenas stermmed sreirear?

What is foreign policy?

2_UHLOWIDTHSHEOIGT 61eMHEHMET 6T(L) 5.

Write the types of globalization.

Clesitener “opAuwiraisr @ rrin” TN D|HPSHBLILIB S 6T6T 7
Why Chennai is nicknamed as “The Detroit of Asia™?
waselsTens SrHm @) HUILSDBTET Feps-GlLmMETTHTT &1 TaTRISET WTeu?

What are the socio-economic factors for uneven distribution of population?

L@ g 111 / PART 111
(g L@ usiaser : 50) / (Marks : 50)
@oliy: () ereweuGweyd 10 aflev1 @ Lot (hLo eflevL werflssaLb. 10 x 5=50
(i) 426ug) eflesmalli@ &L L mwLons eflenr wiehlés Gauess(hLb.
Note: (i) Answer anyl0 questions .
(11) Question No. 42 is compulsory.

Camig L @) sisewen Bloiiys:
(i) QevrsasiGarr 2 16Ty Hens s WSS LI L 66
(ii) pBrojemey wenp@umIbD F)L_risener GlswenTds@o Gxrh 2} & 10.
(iii) 2_sv&IBsvw Lhls Femiomesr H)emeuT
(iv) sullypssgler 1psed ClueT b EnbiT
(V) uevTL_Biser wHmith Lsssflssr auifl DD (P60 BV (1PN (S UibSHS.
Fill in the blanks:
(i) Locarno Treaty was signed in the year
(ii) A line joining the places of equal rainfall
(iii) The longest dam in the world is
(iv) The first women Governor of Tamil Nadu
(v) The Goods and Services Tax act came into effect on
(1) CaupiuB 5315

(i) Guh@ GTL &4 wewevser WHMID Flpd@ CHTLTES amessiT

(i) Biauflis Guirk@eurdsl whHmio aumrsiTeufls Guimd @eur )
(a) Distinguish between

(i) Western Ghats and Eastern Ghats.

(ii) Water ways and Air ways.
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

(4) srrewrd g mis: Gsusnresrento @)balwraisr wpg @G sa o).

(b) Give reason: Agriculture is the backbone of India.

WPV 2 Vsl SUTmSHTET 1PpSEWS HTTenThISmeT ailsurs.

Discuss the main causes of the First World War.

Caugpri Ly Aésrer srrevrmssr whHnib aflenereyser wirenei?

What were the causes and consequences of Vellore revolt?

Cougrrewrwio o Uy sbSwrdlrsn @pss Eaili opleug wirs?

What do you know about Vedaranyam Salt Satyagraha?

Buwusnsvuilsr o 1" 1 fleysevaruio oyser wpédwdbgieund unmluyn afle.

Explain the divisions of Himalayan Mountains and its importance to India.

T8I Greaw® LuOCHTE®S S L EissT LN 6T1pSIS.

Write about any two multipurpose projects of India.

weflsarmed o peaur@gn CUIAL TEEhESTAT STrevTRISMsTU D, SMNHEHD (PEHDSHETU)LD
alleurf.

What are the causes for manmade disasters and mention the measures to reduce the disaster.
@pFw rfwsvswwiiisr Apriyd o pisenar ailordsss.

Explain the salient features of the Constitution of India.

Cup@ Aur GhSuralhe s whiusgiab amins LGSwurs o srerg- Bem.
West Asia stands as a region of considerable significance for India — Justify.

BB aBLTATSMS SanTss HaugnE Csm iy w usVBaum) &mss1HEsmer afloufl?
Briefly explain various terms associated with measuring of national income.
Qeupmlsrwrsr Csrflsgienn Qsr@liysaflsr pdhalw LT S6r sTsiTer?

What are the important characteristics of successful industrial clusters?

GOIOY 1 uriepe wrHDIGFDeTTeT WTaMTTHT STVEGCHTEH WHMID eueTLL G pemmGuw
Blspaysemeru)b @)L siseneru)h GBI HE Tl Hasne udors Saubsemis ubHrlu @My ssi
Ll (Pb 611ps5 Geausvsr(HLb.

Note : Visually Challenged Candidates have to write only notes for the questions related to Time

41.

42.

Line Chart and Map
& parenruaTeuHMIN @ STevESHT(H euenrs:
1900 wpzev 1920 suswruflevrer gmbsi wphalu Flospaysener STVSECHTL_19.60 6T(1p515.
Draw a time line for the following:
Write any five important events between 1900 - 1920,
2 % UDILL SSl60 £pssTayid @)L mismemer Gplésel.
(i) srerdorreardlav@asr (ii) Nrmresrerv (iil) Ao NP1 _sbr
(iv) GuorrraGsm (V) @)&ared)
Mark the following places on the World map.

(1) Sanfrancisco (i) France
(1i1) Great Britain (1iv) Morocco
(v) Italy
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